

## County Distribution Detail Report through 01/05/2021

## Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,071	1,874	13	2,958	\$3,697.50	\$101.27	\$3,596.23	0.70	\$2,517.36
							Entity Tota	al:	\$2,517.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,517.36
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	3,597	10,028	279	13,904	\$17,380.00	\$377.51	\$17,002.49	0.70	\$11,901.74
12/2020	0	1	0	1	\$1.25	\$0.41	\$0.84	0.70	\$0.59
							Entity Tota	al:	\$11,902.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,902.33
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	906	1,167	6	2,079	\$2,598.75	\$60.63	\$2,538.12	0.70	\$1,776.68
							Entity Tota	al:	\$1,776.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,776.68
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,803	3,846	10	5,659	\$7,073.75	\$143.35	\$6,930.40	0.70	\$4,851.28
							Entity Tota	al:	\$4,851.28
							Adjustmer	nt:	\$0.00

\$4,851.28

**Total Amount:** 

Brookings	_					
DIOUNIIUS	Юr	$\sim$	١Ŀ	ın	~	c
	οı	v	JN		u	Э

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	10,600	20,814	192	31,606	\$39,507.50	\$844.82	\$38,662.68	0.70	\$27,063.88
12/2020	0	1	0	1	\$1.25	\$0.41	\$0.84	0.70	\$0.59
							Entity Total	al:	\$27,064.47
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$27,064.47
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	9,243	25,637	440	35,320	\$44,150.00	\$945.34	\$43,204.66	0.70	\$30,243.26
12/2020	0	2	0	2	\$2.50	\$0.82	\$1.68	0.70	\$1.18
							Entity Total	al:	\$30,244.44
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$30,244.44
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,149	3,626	9	5,784	\$7,230.00	\$147.30	\$7,082.70	0.70	\$4,957.89
							Entity Tota	al:	\$4,957.89
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,957.89
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	539	463	2	1,004	\$1,255.00	\$25.83	\$1,229.17	0.70	\$860.42
							Entity Total	al:	\$860.42
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$860.42
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,277	6,251	34	8,562	\$10,702.50	\$234.19	\$10,468.31	0.70	\$7,327.82

							Entity Tota		\$7,327.82
							Adjustmer		\$0.00
Campbell							Total Amo	unt:	\$7,327.82
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	682	1,381	23	2,086	\$2,607.50	\$54.70	\$2,552.80	0.70	\$1,786.96
							Entity Tota	al:	\$1,786.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,786.96
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,548	5,232	22	7,802	\$9,752.50	\$199.28	\$9,553.22	0.70	\$6,687.25
12/2020	0	3	0	3	\$3.75	\$1.23	\$2.52	0.70	\$1.76
							Entity Tota	al:	\$6,689.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,689.01
City of Box Elder, M	leade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	39	2,677	11	2,727	\$3,408.75	\$84.65	\$3,324.10	0.70	\$2,326.87
							Entity Tota	al:	\$2,326.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,326.87
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	629	2,594	75	3,298	\$4,122.50	\$100.95	\$4,021.55	0.70	\$2,815.09
12/2020	0	0	10	10	\$12.50	\$12.50	\$0.00	0.70	\$0.00
							Entity Tota	al:	\$2,815.09

Adjustment:

**Total Amount:** 

\$0.00 \$2,815.09

City of Flerre, Hugh	es co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,095	5,706	100	7,901	\$9,876.25	\$210.87	\$9,665.38	0.70	\$6,765.77
							Entity Tota	al:	\$6,765.77
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$6,765.77
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,766	25,639	1,729	30,134	\$37,667.50	\$773.16	\$36,894.34	0.70	\$25,826.04
							Entity Tota	al:	\$25,826.04
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$25,826.04
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,271	2,205	22	3,498	\$4,372.50	\$89.38	\$4,283.12	0.70	\$2,998.18
							Entity Tota	al:	\$2,998.18
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$2,998.18
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,636	7,344	231	9,211	\$11,513.75	\$245.50	\$11,268.25	0.70	\$7,887.78
							Entity Tota	al:	\$7,887.78
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$7,887.78
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	6,954	18,318	598	25,870	\$32,337.50	\$699.10	\$31,638.40	0.70	\$22,146.88
							Entity Tota	al:	\$22,146.88
							Adjustmer	nt:	\$0.00

Total Amount:	\$22.146.88
i Olai Ailioulil.	ΨZZ,140.00

## Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,059	648	242	1,949	\$2,436.25	\$50.34	\$2,385.91	0.70	\$1,670.14
12/2020	0	1	0	1	\$1.25	\$0.41	\$0.84	0.70	\$0.59
							Entity Tot	al:	\$1,670.73
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,670.73
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	3,197	5,652	34	8,883	\$11,103.75	\$249.13	\$10,854.62	0.70	\$7,598.23
							Entity Tot	al:	\$7,598.23
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,598.23
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	4,626	13,751	289	18,666	\$23,332.50	\$491.54	\$22,840.96	0.70	\$15,988.67
12/2020	0	4	0	4	\$5.00	\$1.64	\$3.36	0.70	\$2.35
							Entity Tot	al:	\$15,991.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$15,991.02
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,920	3,445	28	5,393	\$6,741.25	\$137.80	\$6,603.45	0.70	\$4,622.42
							Entity Tot	al:	\$4,622.42
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,622.42
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

11/2020	1,657	2,864	41	4,562	\$5,702.50	\$123.17	\$5,579.33	0.70	\$3,905.53
							Entity Tota	al:	\$3,905.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,905.53
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,146	2,092	7	3,245	\$4,056.25	\$85.68	\$3,970.57	0.70	\$2,779.40
12/2020	0	2	0	2	\$2.50	\$0.82	\$1.68	0.70	\$1.18
							Entity Tota	al:	\$2,780.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,780.58
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,229	2,810	24	4,063	\$5,078.75	\$102.38	\$4,976.37	0.70	\$3,483.46
							Entity Tota	al:	\$3,483.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,483.46
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,877	4,506	22	7,405	\$9,256.25	\$191.99	\$9,064.26	0.70	\$6,344.98
							Entity Tota	al:	\$6,344.98
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,344.98
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	716	1,422	13	2,151	\$2,688.75	\$55.26	\$2,633.49	0.70	\$1,843.44
12/2020	0	2	0	2	\$2.50	\$0.82	\$1.68	0.70	\$1.18
							Entity Tota	al:	\$1,844.62
							Adjustmer	nt:	\$0.00

							Total Amo	unt:	\$1,844.62
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,979	5,180	29	7,188	\$8,985.00	\$182.71	\$8,802.29	0.70	\$6,161.60
							Entity Tota	ıl:	\$6,161.60
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$6,161.60
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,644	3,452	4	5,100	\$6,375.00	\$141.52	\$6,233.48	0.70	\$4,363.44
							Entity Tota	ıl:	\$4,363.44
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$4,363.44
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	984	1,312	6	2,302	\$2,877.50	\$57.78	\$2,819.72	0.70	\$1,973.80
							Entity Tota	ıl:	\$1,973.80
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,973.80
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,567	3,650	13	5,230	\$6,537.50	\$131.32	\$6,406.18	0.70	\$4,484.33
							Entity Tota	ıl:	\$4,484.33
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$4,484.33
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,024	2,567	24	3,615	\$4,518.75	\$97.19	\$4,421.56	0.70	\$3,095.09

**Entity Total:** 

\$3,095.09

Adjustment:	\$0.00
Total Amount:	\$3,095.09

Percent

Hanson
--------

Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	832	2,947	22	3,801	\$4,751.25	\$97.97	\$4,653.28	0.70	\$3,257.30
							Entity Tota	al:	\$3,257.30
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,257.30
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	665	842	1	1,508	\$1,885.00	\$48.08	\$1,836.92	0.70	\$1,285.84
							Entity Tota	al:	\$1,285.84
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,285.84
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,008	8,328	240	10,576	\$13,220.00	\$318.65	\$12,901.35	0.70	\$9,030.95
12/2020	0	2	0	2	\$2.50	\$0.82	\$1.68	0.70	\$1.18
							Entity Tota	al:	\$9,032.13
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$9,032.13
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,769	4,942	43	7,754	\$9,692.50	\$210.77	\$9,481.73	0.70	\$6,637.21
							Entity Tota	al:	\$6,637.21
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,637.21
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

11/2020	580	1,040	2	1,622	\$2,027.50	\$41.15	\$1,986.35	0.70	\$1,390.45
							Entity Tota	al:	\$1,390.45
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,390.45
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	619	857	4	1,480	\$1,850.00	\$37.39	\$1,812.61	0.70	\$1,268.83
							Entity Tota	al:	\$1,268.83
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,268.83
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	808	1,233	5	2,046	\$2,557.50	\$51.50	\$2,506.00	0.70	\$1,754.20
							Entity Tota	al:	\$1,754.20
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,754.20
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	522	647	5	1,174	\$1,467.50	\$29.50	\$1,438.00	0.70	\$1,006.60
							Entity Tota	al:	\$1,006.60
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,006.60
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,204	3,868	43	5,115	\$6,393.75	\$135.05	\$6,258.70	0.70	\$4,381.09
							Entity Tota	al:	\$4,381.09
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,381.09
Lake									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,602	8,835	84	11,521	\$14,401.25	\$297.11	\$14,104.14	0.70	\$9,872.90
12/2020	0	2	0	2	\$2.50	\$0.82	\$1.68	0.70	\$1.18
							Entity Tot	al:	\$9,874.08
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$9,874.08
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	7,297	16,753	171	24,221	\$30,276.25	\$627.05	\$29,649.20	0.70	\$20,754.44
12/2020	0	6	0	6	\$7.50	\$2.46	\$5.04	0.70	\$3.53
							Entity Tot	al:	\$20,757.97
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$20,757.97
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	4,683	23,169	1,876	29,728	\$37,160.00	\$846.41	\$36,313.59	0.70	\$25,419.51
12/2020	0	4	0	4	\$5.00	\$1.64	\$3.36	0.70	\$2.35
							Entity Tot	al:	\$25,421.86
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$25,421.86
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,092	1,756	217	3,065	\$3,831.25	\$83.14	\$3,748.11	0.70	\$2,623.68
							Entity Tot	al:	\$2,623.68
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,623.68
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,518	2,834	11	4,363	\$5,453.75	\$112.46	\$5,341.29	0.70	\$3,738.90
12/2020	0	3	0	3	\$3.75	\$1.23	\$2.52	0.70	\$1.76

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,740.66
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,968	4,230	19	6,217	\$7,771.25	\$159.12	\$7,612.13	0.70	\$5,328.49
							Entity Tot	al:	\$5,328.49
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,328.49
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	944	1,496	4	2,444	\$3,055.00	\$72.50	\$2,982.50	0.70	\$2,087.75
							Entity Tot	al:	\$2,087.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,087.75
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	3,349	17,952	313	21,614	\$27,017.50	\$576.88	\$26,440.62	0.70	\$18,508.43
12/2020	0	1	0	1	\$1.25	\$0.41	\$0.84	0.70	\$0.59
							Entity Tot	al:	\$18,509.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$18,509.02
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	563	669	0	1,232	\$1,540.00	\$30.82	\$1,509.18	0.70	\$1,056.43
							Entity Tot	al:	\$1,056.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,056.43
Miner									

**Entity Total:** 

\$3,740.66

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	951	1,567	4	2,522	\$3,152.50	\$63.42	\$3,089.08	0.70	\$2,162.36
							Entity Tot	al:	\$2,162.36
							Adjustme	ent:	\$0.00
							Total Amo	ount:	\$2,162.36
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	40,317	148,441	4,388	193,146	\$241,432.50	\$5,163.06	\$236,269.44	0.70	\$165,388.61
12/2020	0	17	0	17	\$21.25	\$6.96	\$14.29	0.70	\$10.00
							Entity Tot	tal:	\$165,398.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$165,398.61
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,238	4,497	60	5,795	\$7,243.75	\$165.27	\$7,078.48	0.70	\$4,954.94
							Entity Tot	tal:	\$4,954.94
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,954.94
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	23,759	79,870	1,848	105,477	\$131,846.25	\$2,848.73	\$128,997.52	0.70	\$90,298.26
12/2020	0	8	0	8	\$10.00	\$3.28	\$6.72	0.70	\$4.70
							Entity Tot	tal:	\$90,302.96
							Adjustme	ent:	\$0.00
							Total Amo	ount:	\$90,302.96
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,682	2,249	12	3,943	\$4,928.75	\$109.24	\$4,819.51	0.70	\$3,373.66
							Entity Tot	tal:	\$3,373.66

							Adjustment: Total Amount:		\$0.00 \$3,373.66
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,065	1,749	7	2,821	\$3,526.25	\$71.05	\$3,455.20	0.70	\$2,418.64
							Entity Tota	al:	\$2,418.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,418.64
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	3,178	5,037	15	8,230	\$10,287.50	\$228.70	\$10,058.80	0.70	\$7,041.16
							Entity Tota	al:	\$7,041.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,041.16
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	514	1,753	4	2,271	\$2,838.75	\$56.94	\$2,781.81	0.70	\$1,947.27
							Entity Tota	al:	\$1,947.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,947.27
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,795	4,432	14	6,241	\$7,801.25	\$159.63	\$7,641.62	0.70	\$5,349.13
							Entity Tota	al:	\$5,349.13
							Adjustmer		\$0.00
							-		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	693	2,100	36	2,829	\$3,536.25	\$75.09	\$3,461.16	0.70	\$2,422.81

Stanley

\$5,349.13

**Total Amount:** 

							71.0,0000		40.00
							Total Amo	ount:	\$2,422.81
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	602	1,125	2	1,729	\$2,161.25	\$43.97	\$2,117.28	0.70	\$1,482.10
							Entity Tot	al·	\$1,482.10
							Adjustme		\$0.00
							Total Amo		\$1,482.10
Todd							i Otal Allic	Junt.	\$1, <del>4</del> 02.10
Todu									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	0	78	2	80	\$100.00	\$12.35	\$87.65	0.70	\$61.36
							Entity Tot	al:	\$61.36
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$61.36
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,255	3,854	20	6,129	\$7,661.25	\$158.56	\$7,502.69	0.70	\$5,251.88
							Entity Tot	al:	\$5,251.88
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,251.88
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,039	6,105	15	8,159	\$10,198.75	\$207.44	\$9,991.31	0.70	\$6,993.92
							Entity Tot	al:	\$6,993.92
							Adjustme	nt:	\$0.00
							Total Amo		\$6,993.92
Union									

**Entity Total:** 

Adjustment:

\$2,422.81 \$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	2,851	11,048	598	14,497	\$18,121.25	\$451.84	\$17,669.41	0.70	\$12,368.59
							Entity Tot	al:	\$12,368.59
							Adjustme	nt:	\$0.00
							Total Amount:		\$12,368.59
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	1,874	3,626	181	5,681	\$7,101.25	\$146.69	\$6,954.56	0.70	\$4,868.19
12/2020	0	2	0	2	\$2.50	\$0.82	\$1.68	0.70	\$1.18
							Entity Tot	al:	\$4,869.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,869.37
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2020	4,800	15,916	322	21,038	\$26,297.50	\$552.81	\$25,744.69	0.70	\$18,021.28
							Entity Tot	al:	\$18,021.28
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$18,021.28
Totals	200,066	594,059	15,170	809,295	\$ 1,011,618.75	\$ 21,763.48	\$ 989,855.27		